
b) Die quadratische Funktion    f(x)=ax2+b 
 
F(x0) = lim [( xon )[( a( xon 1)2 +b) + ( a( xon  2)2 +b) + .... +( a( xon  n)2 +b)]] 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 = lim [( xon )[( a( xon )2 (12+22+32+ ....+n2) +( b n)]] 
 
 = lim [ [( a( xon )3 (12+22+32+ ....+n2) +( xon b n)]] 
 
 

 = lim  [ [( a( xon )3 ( n(n 1)(2n 1)
6

+ + ) +( x0 b )]] 

 
 

F(x0) = a 
xo
3  + b x0 

 
 
Anwendung: a) f(x) = 2x2     => a=2 und b=0 
 

 F(x0) = 2 
xo
3    

 
         mit x0=4 gilt:   F(4) = A =  
 
         b) f(x) = x2   => a=1 und b=0 
 

         F(x0) = 
xo
3   ; mit x0=4 gilt: F(4) = A = 
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3 Flächenfunktion zur obigen quadratischen 
Funktion   f(x)=ax2+b 
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